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000000000000 (oo \N[Oooo\looooo)o

oo

\documentclass{jarticle}
\usepackage{amsmath}
\begin{document}
\begin{gather}

x"2+x+1 = 1 \\

y = 2
\end{gather}
\begin{align*}

f(x) &= x"2+x+1 \\

y &= 2

© 00 J O Ut k= W N =

—_
o

41
11 |\end{alignx*}
12 |\begin{align}
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! Undefined control sequence.
1.3 8y = \loq
x$

e 0000 ODODOODODODODDDDODODODOO

e 1.3000000300000000000000%0

e 0000 ODDOOOOOOODODODONIqO x¢0000D0O0OOOOO
booobobooboobooobooboobooooboboono

000000000000 3000\loq0OIOODOOO (undefined control
sequence) 0000000000000 OOOOOOOOOOODOOOO

(122) 0OOOUOUOOOOO0O OUOOOOOOOOOOOOOO 10000
goooboboooooboooooogg

begin end00O0O0OOOMO

! LaTeX Error: \begin{itemizel} on input line 3
ended by \end{document}.

\beginOOOOOODODOOOOOODOOOODOODOOOOODO

gooooooooooooOoOooOOOOOOoOoOoOo0
(! LaTeX Error: Can be used only in preamble. W

3 0000000000000000000000000000000000000000
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00
1.3 \usepackage
{amsmath}

000000 (\documentclass O \begin{document}d 0 ) 0000000
0000 \begin{docunent}0 0000000000 OCOOODOOOOO

oooooobooooooooon

! LaTeX Error: Command \item invalid in math modle.

0o
1.4 $\item
$

gboooboooobobooooboooooobooonoo

ooooooooood

! LaTeX Error: Environment docment undefined.

oo

1.2 \begin{docment}

oboooooobOoboboobooooobooboboobooooooonog
ooooood

oooooooooogono

[! LaTeX Error: There’s no line here to end. J

oooooooOooOOOOOON\\ODOOOOOOOOoOoOoOoOoOooooo

ooooooooo ()

! Argument of \texttt
<inserted text>

has an extra }.

\par
1.3 {\texttt}
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! Display math should end with $$.
<to be read again>

1.3 \[ abc $

\[OOODOOOOooooo\loooooooooooooobooooboooo
OO¢s0DOOO0O0O0OoOOoO0OoDOOoOoOoDOoOoOoOooDoboOoOooDoO

gboooog

! Double subscript.
1.3 $ a_b_
c $

Oo0000 a{b_c}0OOOooonQ

gboooog

! Double superscript.
1.3 $ a”b~
c $

Oo0000 a~{b~c¥0O0O0Ooooono

$000

! Missing $ inserted.
<inserted text>

$
1.3 a

b

OO00O0NracO000O0O00DOOO0ODOOOODDOOODOOODOOOO
Oooooo0o0ooDOo0oOooooOooooOsobboOoooDoboOooooDo

Do0DO00 () 000
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<inserted text>
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ooboooboooooooboobooOoooboooboooboooooooog

000000 () 000

! Too many 1}’s.
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1.3 \texttt{abcl}}
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ooooo

! Undefined control sequence.
1.3 8y = \loq
x$
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oooobooog

Runaway argument?
{2 %

! Paragraph ended before \frac was complete.
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